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That he said to a ®X22; betroth for me a divorcee

OVERVIEW

There is a dispute whether the rule of 77°2v 1272 %W X applies only if the
YW is a 8211 92, or only if 702y *¥2 °X. One practical difference is if a 172
told a X to be wIpn a divorcee for the 3773 If we maintain the view of 12
X217, then there is ¥"27%w, since the Y% is not a X211 72 regarding
marrying a 72173, If we maintain 702y °¥2 °X, then the rule of ¥"7°wX applies,
for the 9% had the choice of not performing this mm%w. Our M0IN
explains the meaning of X211 72, and what is the practical difference in this
case between the two views.

nooIN asks:
— 9133 1159 9N 199N 9NN ON)

And if you will say; and even if the 37> said w173 "W % w7p to another

173, the 3772 °9W should also not considered a &2vn 92 (for the 9w is not doing any
77°2), so why did the X713 say that he told a 9% (and not a 1772)?

N1B0IN answers:
— 2550 NYY AYTPN BNY PINID NN 92 3973 1197 9 U

And one can say; that a 375 (who is wpn a awa for another 172) is
considered a Xa1n 92, since if he were wTpn this 7v17) for himself he

would be 23977 for transgressing the 5 -
— 2)nab NWTPNRYA 1DIwan 1N NY MY 2395 DIUN 12IPT 23 HY N INIY YaN

However a X" who is wipn a nwna for a 7175, even though he
transgresses the X7 of ?1won» A0 XY v 715, when he is w7p» the quvis

for the 3712, nevertheless -
— N3N 93 299 XY 9N XY MY DYTHN INT 1D

since (even) if he would be w7p» this 72173 for himself he would not be
liable for transgressing any X7, he is not considered a 821717 92,

mooIN asks:

! The prohibition of "3 79 *19% (not to place a stumbling block before a blind person) applies to helping or
causing another to transgress an 77°2y. Here the 9% is causing the 373 to transgress the 10K of 7w7a.

% MpoIn may be anticipating the question; if a 175 M9 is considered a Xarn 72 because if he would have
been w7pn the 713 for himself that would be prohibited, then if one is actually 121w on 7 °19%, he should
certainly be considered a X211 72! However, ma0o1n rejects this reasoning. See ‘Thinking it over’ # 1.
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— 11913 NP9) NI 9NN ON)

And if you will say what practical difference is there, for since -
—PWITPN BY ¥ KY NN 92 MDY 9BNT INSY 192 122y S¥a ON 1INT INNY P2
Whether according to the one who maintains the rule of *7°2y "2 X or
whether according to the one who maintains the rule of Xavm 23," in

either case there is no mp»» for the 7P -
- Sﬂiﬂb Dya NPV IR YD (x,ny 97 purtp) PONY NIVYYA 9INT XYY

According to %29 who maintains in PonY 79wy P, that if the 70 was
wTpn a w1, he does not receive nipon;® he receives mpo» (only) if he
lived with her.

N1B0IN answers:
— (0w x,n 91 DN Y2 NOMTI PYITPN YY GX NPT 79 INR H¥3 597 91319 U

And one can say that if the 375 was »p2 after the v 7°p, he receives an

additional mpb» for the w7p as is evident in the beginning of noon
7

aaan.

mooIn offers an alternate solution:
— 113919 RPOY N2IY GNT 91217 W’ ) ON

Or you may say; that there is a difference even according to 829 -

7 PUTDN 1990 PR MNYIY PN OX) “PYITHN 199N MNYYY Y INT
For if there is ny»2 then the 7 are effective, but if there is no
mmow, then the 17 are not effective.

SUMMARY
A X211 92 means that if the 75w would perform this act on his own behalf
he would be transgressing. Transgressing Y °19% does not make one a "2

3 According to this 7"n the m2wn should not be 271, since the rule is 77172y 72772 MW X where T2y "y *X.

* According to this 7" the mown will be 2 for there is no rule of ¥"7>wx where the 19w is not a X21n 1.

> The 710 (in 7°,%2 [11MK] ®p*) writes [regarding a 3775 (and the same applies to a VYT 172)] TN TIAINR
"3 1> X2 " and in the next (W) PI0D it says W7 92 R According to X237 this means that the 7N is
explaining, '22m° X2 01w np> R? oy 1, therefore there is no mpn» for w17°p alone.

® If the 175 was wpn the awa he will not be mpYn 27, so certainly if his 7w was wipn, (even if there is
77°2Y 127% MW, since he is not a X211 12), the 173 will not receive Mpon.

" Therefore according to the 7"» of X211 12 the 175 will receive mpon on the PwITPa AWy, since the oW
(who was a PXw?) is not a X211 13, there is ¥"272 mmw (and the 1w7p is 21). However, according to the
7"n of 722V *y2 K, there is no MpPon, for v"17wx. See ‘Thinking it over # 4.

8 There is (only) an X% Mo°X for a 173 to marry a w1, The rule is that 1w17°p are 1K °2°°12 109N,

? This second answer (even though it seems simple and obvious, nevertheless it) does not fit well with the
words of the X n3, which states that the difference is whether 112w 2»n or not. See (also) ‘Thinking it
over’ #2 & 3.
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X21n. There is mpon if a 172 is wWIpn a mwna, provided he was 92 later
(according to ¥27).

THINKING IT OVER

1. mPOIN maintains that according to the opinion of X211 73, the rule of
y"79wK does not depend on whether the % is doing an 772y of MW *197, but
rather it applies where the r°>w would be doing an 7722y if he did the act for
himself, not as a m>w.'"® What is the rationale behind this ruling? It would
seem just the opposite! If the 2w is 72w on Y 195, we can apply the
concept of TYMW " >727 TN 72T 277 M127; however if X2rn 72 means
that if he would do it for himself he would be doing an 77°2y (but right now
he is not doing an 77°2v), then how can we apply 121 2777 *1272!"!

2. The second answer of MdOIN (on the second question) states that even if
there is no mpYn for Pw17°R, nevertheless there is a difference between these
two views, whether the w17 is 9 or not.'> Seemingly if there is no np%n
for 117°p alone, there 1s no MoK for W 7P alone (otherwise why is there no
mpon for the RS of np° X); if there is no 70X then the Pw17°R should be o1
according to either view since there is no 77ay!"’

3. According to the first answer (on the second question of NMoIN), is the
51 e if we maintain ¥"79wWR? Does ¥"79WR mean that there is no 2117 on
the n2wn but the Mo wn awyn (in this case, the WI1T°P) is 21; or do we
assume that ¥"79wR means that the entire Mo is Hva?™*

4. mooin states that even according to X271 if the 372 is H¥12 the 7w he is
also mpvn 2 for the previous w1 p."> Seemingly, how can we be 27mn
him npP%» on the 1w17°p when the aXn7 for PR was a poo NN (for
even if he would be w7pn her, he still would not be mp%n 2 if he was not
5913 her later)?'®

10 See footnote # 2.

' See n'"m1 and anp MR 70,
12'See footnote # 9.

" See 7"nx # 303.

14 See mmw mx >,

15 See footnote # 7.

10 See 21p M 7"0.
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